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llowance for bad debts of $13,000. They made an

1. Shea Company had a beginning balance in their a
adjustment for bad debts at'yea'r-'ehd equal to 2% of their $10,000,000 in credit sales. At the next
stment, the allowance for bad debts account had a $(10,000) balance. " From this

year-end before adju
ble during the second year in the amount of

we know that Shea wrote off accounts receiva
(A)$187,000 (B)$210,000 (C)$2 13,000 (D)$223,000
2. Abuilding with'an appraisal value of $137,000 is made available at an offer price of $142,000. The
purchaser acquires the property for $30,000 in cash, a 90-day note payable for $40,000, and a
1{1:)ng£ge‘éxn9urft1ng {0 $60,000." - The cost basis recorded in the buyer's accounting records to
rec;)lgmz}e: t‘ﬁi's";p{xrgilais'é) is s FCE X L '
(A) $100,000 (B) $130,000 (C) $137,000 (D) $142,000
3. In January 2000, the Kiss Corporation purchased a patent for $192,000 from Hug Company that had
a remaining legal life of 14 years. Kiss estimated that the re
years. In January 2004, the company incurred $30,000 in legal costs to defend the patent from an
infringement. Kiss’s lawyers were successful and the remaining years of benefit from the patent were

estimated to be six years. The patent amortization expense for 2004 is
(A) $16,000 (B) $21,000 (C) $22,200 (D) $27,857
4.  Schechter Manufacturing Company had calculated the inventory value under both LIFO and FIFO
‘for theﬁrsg f\;/c:‘yéar‘s\ of .it's‘opem‘tiéns. ;
ar‘éﬁp“ﬁ)!/sic"hﬁ;"i?ﬁé‘ré‘réobds this year than last year. The valuations are:
5 LIFO FIFO

Balance at December 31, Yeafr 1'/ ' $ 9,800,000 $ 9,200,000
Balance at December 31, Year 2 10,200,000 10,300,000

maining economic life would be eight

#*The accountant for the company has advised you that there
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From this data, it can be determined that inventory costs were

(A) risingin both years.

(B) falling in year 1 and rising in year 2. -
(C) rising in year 1 and falling in year 2.
(D) falling in both years. '
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ry truck for $25,000. The sales taxes are $1,000. The

5. The Carlion Company purchases a new delive
e truck for $600. The truck license is $60. The truck

logo o thé company is painted on the side of th
Spry sl At Tl T )
ﬁihde}rg?o s safety testing for $110." What does Carlton record as the cost of the new truck?

(4)$26.770" (B)'$26,710 "*(C) §26,000 " (D) $25,710
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4. Premble Company owns 40,000 of 50,000 outstanding shares of Smilhfield Company, and during

2006, it recognizes income from Smithfield as follows:

Share of Smithfield’s net income ($500,000x80%) $400,000
Patent amortization (50,000)
Unrealized profit-——downstream sales (40,000)
Unrealized profit—upstream sales (360,000x80%) (48.,000)
Income from Smithfield $262,000_

Premble’s net income (and consolidated net income) for 2006 is $1,262,000, consisting of
separate income from Premble of $1,000,000 and $262,000 income from Smithfield. Premble has

100,000 shared of common stock outstanding, but it does not have comumon stock equivalents or

other potentially dilutive securities.
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Smithfield has $100,000 par of 10% convertible bond outstanding that are convertible into
10,000 shares of Smithfield common stock. The net-of-tax interest on the bonds is $6,400, and

Smithfield’s diluted earmngs per share for purposes of computing consolidated earnings per share is

R s

ey

determined as follows e

Net income 4714, B $500,000
Add: Net-of-tax interest on convertible bonds 6,400
Less: Unrealized profit on upstream sales (60,000)
4 ' Diluted earnihgs’ <" v _$446,400
Common shares outstanding 50,000
Shares issuable upon conversion of bonds -. 10,000
b Common shares and equivalents 60,000
Diluted eamnings per share (a+b) § 7794
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Requlred Compute Premble Company s and consolidated diluted earnings per share for 2006.
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5. The consolidated working paper balances of Push Inc., and its subsidiary,
December 31; 2006 and 2005 are as follows (in thousands):

NG iy L

Net Change

LA iy .
4 Increase
2006 2005 (Decrease)
- Assets
" Cash _‘ $313  $195 $118
Marketable equity securltlcs at cost (MES) 175 175 —
Allowance to reduce MES to market (13) (24) 11
Accounts receivable—net 418 440 (22)
Inventories 595 525 70
Land 385 170 215
Plant and equipment 755 690 65
Accumulated depreciation (199) (145) (54)
Patents—net 57 _60 3y

Total assets
Liabilities and Stockholders’ Equity

$2486  $2086 400

Note payable, current portion $150 $150 §-
Accounts and accrued payables 595 474 121
Note payable, long-term portion 300 450 (150)
Deferred income taxes 44 32 12
Minority interest in Storr 179 161 18
Common stock--$10 par 580 480 100
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Storr Corporation, as of
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Additional paid-in capital 303 180 123

Retained earnings 335 195 140

Treasury stock at cost - (36) __36

Total equities $2,486 32,086 $400

Additional information:

a. On January 20, 2006, Push issued 10,000 shares of its common stock for land having a fair value
of $215,000.

b. On February 5, 2006, Push reissued all of its treasury stock for $44,000.

¢. On May 15, 2000, Push paid a cash dividend of $58,000 on its common stock.

d. On August 8, 2006, equipment was purchased for $127,000.

e. On September 30, 2006, equipment was sold for $40,000. The equipment cost $62,000 and had a
carrying amount of $34,000 on the date of sale.

f. On December 15, 2006, Storr Corporation paid a cash dividend of $15,000 on its common stock.

g. Deferred income taxes represent timing differences relating to the use of accelerated depreciation
methods for income tax reporting and the straight-line method for financial reporting.

h. Consolidated net income for 2006 was $198,000. Storr’s net income was 110,000.

i. Push owns 70% of its subsidiary, Storr Corporation. There was no change in the ownership
interest in Storr during 2005 and 2006. There were no intercompany transactions other than the

dividend paid to Push by its subsidiary.

Required: Prepare a consolidated statement of cash flows for Push and Subsidiary for the year
ended December 31, 2006. Use the indirect method. 20%




